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Simplify each expression.

D (2x*+8)—(6x* +4)

3) (3p*-8+6p°)—(8p* +8-4p?)

5) (3m +m*+ 4m2) + (Sm4 —5m? — 2m)

7 (Qk—=2-3k>—4k*) - (4k* = k* = 1)
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ID: 1
Name

Date Period

2) (5v2 — )+ (3 —v?)

4) (7x*-=6-7x) = (7x -6 -7x%)

6) (54— 8a — 84> + 3a*) + (4a° — 6a* — 6a)

8) (6)64 +24+8x - x2) + (x3 +2x* + 6x2)



9) (5-6p*)+(p*+2)-(6p*—4+4p) 10) (6k% + 3k*) — (k* + 8k*) + (3k> — 2k* — 5k)

11) (6m3n4 + 5n4) + (5m3n4 —6n*) 12) (4mn — 2m4) - (3m4 +6m*n’)
13) (4-7y°)-(y* +4) 14) (y* +5x%) + (6x* - 3y*)
15) (—Sy3 — 6x4y2) - (Sy3 +7x° - 4x4y2) 16) (—3 - a3) + (—6a2b +54° + 2)

CHALLENGE: Simplify each expression.

17) (4xy* = X*y + 5°39* + x*y) = (597 + x2y = 5x*y + 5x32) + (3 — 6xy* = 5xty — 2x°y*)
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Simplify each expression.
1) (2x* +8)—(6x* +4)

—4x" + 4

3) (3p*-8+6p°)—(8p* +8-4p?)
—5p*+10p° - 16

5) (3m +m*+ 4m2) + (5m4 —5m? — 2m)

4

6m* —m? +m

7 (Qk—=2-3k>—4k*) - (4k* = k* = 1)
3kt =Tk + 2k -1

© 2012 Kuta Software LLC. All rights reserved. Made with Infinite Algebra 2.

ID: 1
Name
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2) (5v2 — )+ (3 —v?)
4 -2 +3

4) (7x*-=6-7x) = (7x -6 -7x%)
14x* — 14x

6) (54— 8a — 84> + 3a*) + (4a° — 6a* — 6a)

3a* —4a® — a* — 14a

8) (6)64 +24+8x - x2) + (x3 +2x* + 6x2)

8x* +9x° +5x* +2



9) (5-6p*)+(p*+2)-(6p*—4+4p) 10) (6k% + 3k*) — (k* + 8k*) + (3k> — 2k* — 5k)

—5p*—6p* —4p+11 —8k* + 8k + k* — 5k

11) (6m3'n4 + 5n4) + (5m3n4 —6n*) 12) (4mn — 2m4) - (3m4 +6m*n’)
11m’n* —n* —6m*n® — 5m* + 4mn

13) (4-7y%)-(y* +4) 14) (y* +5x%) + (6x*> - 3y*)
-8y’ —2y* +11x°

15) (-8y° —6x*y?) = (5y° + 7x% — 4x%?) 16) (-3 —a®) + (-6a*b + 5a° +2)
—2x*yr —13y° = 7x° 4a’ — 6a*b -1

CHALLENGE: Simplify each expression.
17) (4xy* = X*y + 5°39* + x*y) = (597 + x2y = 5x*y + 5x32) + (3 — 6xy* = 5xty — 2x°y*)

3'>)c3y4 + x4y — 5)c3y2 — 2x2y — 7)cy2 + y3
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